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1) Convert mixed nuambers to improper
2) Find the LM of +he denominators
3) + or — the numerators (denominator stays the same)
4) Simplify and convert back to mixed number where possible

WMultiplier - a more efficient method for calculating a percevtage
increase or decrease. Tt nvolves finding a vumber vou can multiply
by that represents the percentage change.

Terminating - a decimal number that has digits that end

Recurring - a decimal number with a digit (or group of digits) that
repeats forever

: : A
TInterest — a process in which an amount of money borrowed or T

lent increases over time

Simplify and convert back +o
mixed vumber where possible

Tip: Convert wixed

Simple interest — the interest percentage added vyearly based on '”['“'”"0‘3":"““'0“5;“ % = % = 4115
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2) Divide the value by the percentage +o
find 1%
£60 + %0 = 0.75

per vear, every vear.

Tt's importaut to note with simple
2) Wultiply your auswer by 100 +o fiud +he nterest the amount earved will stay the
original amount same every qear.
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| bought. & house for £180,000,1

E 3% simple interest you wonld earn £6
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